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booklet.
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unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.
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Note :

1.

MANAGEMENT
PAPER-1II

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

Managerial economics is concerned with which combination of the following ?
(a) Investment Analysis and Decisions

(b) Production Behaviour and Cost Analysis

(c) Input Reward Analysis and Decisions

(d) Economic Environment Analysis

Code : & { 'JE.
(1) (), (b) and (c) 2 (B () and (d)
(3) (), (b) and (d) @ [, © and {(d)

/ /

2. When P, and P; and Q, and Q; denote before and\qffer change in the price and quantity
respectively and in both the situations, total outlay remains thé same, which of the following
formulae give the similar value of the arc price - elastraty ‘of demand ?

{
Qo—Q;, Ho+P Qo—Q;, By
X " =U =l 8
@) Po-P QptQq Vi ) Pp-P; Q
Q-Q1, Fo g QP Q=1 P
©  B-P  Q ' b @ B-p T Q ©  R-P Q
L
Code .
(1) - (b), (c)and (e)
/(2 (), (b) and”fe) \
(3) (@) (c) and(e)
@ {b), (c) and (d)
|
3. Incase the producer’s equilibrium shifts to a higher isoquant due to decrease in price of an
input, the curve combining the successive equilibrium positions is known as :
(1)  Product Possibility Curve (2)  Price Factor Curve
(3) Expansion Path (4) Product Line
e [ IIAVAVR AN 2 Faper
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LEbE]
T9A-u - 11
fader: 39 T | uem (50) dg-fashed ™ U9 €1 U U QY (2) ik &1 |l e Siframd €1

1. fr=fafaa § 9 frg 9o &1 gy 399 9 9UaR § ?
(a) fafrm foweo wa ol 9

(b) UG FERR e ANTd fareetsor § { s
(c) WIEM (IeT) WIRdifeh fagersor we fofei & ( §
(d) TR araeRY fageryor §

%< J .

1 @ 0T @ (B0 L) |

3) (), (b) T (d) (4) / a), () T (d)

2. W& P,TH P, qM Q, TS Q, FHHH: FIAd T AT gl e o1e ki feerfaat geifdt & qen
ST Bt aifefl § ot e o Ui wEE Edl @ e HA fohet Tl G0 =19 shied ol i
oI HEM IR ST 2 A { (

( .
Qo—Qq ., Fot+P Qo1 I
@ PPy XQO+Q1 _‘ A ®) Py—Py XQ_l
Qo—Q1 Py Qo—Q1 P Qo—Q1 P1
() Py—P;  Qp !i' ‘ (d) Py—P; le (e) Py—P; XQO
%< , {
(1) . (), (©) T(e)
/@) @ b ‘lef(j)
3 @ @@
® () () T (d)

3. g ek h1 W Tohll Scat o |ieH o o | HHl o Rl ferdl S HHicre ok WSl €
A IFIR T Feerferdt A1 faem At a5 1 S e

(1)  $eTe e o W w Y (2) A uH Ik o €9 H
(3) fowR g% w9 H (4) SR Y@ h ®YH
oz |[HLHRNRITAN ;
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4.  Which one of the following statements is not correct ?
(1) Marginal cost declines at a faster rate as compared to the average cost.
(2) Marginal cost rises at a faster rate as compared to the average cost.
(3) Marginal cost equals average cost where average cost is minimum.
(4)

4)  Average cost equals marginal cost where marginal cost is minimum.

Ty

5.  Cost - Plus pricing is not suitable for : r#
(1) Product Tailoring (2) Profit Maximising f r
(3) Monopsony Pricing (4) Public Utility Pricing

£
6.  Match the following and select the correct code of matehing : * {

List - I List - ;f’ “1

(a) F.W. Taylor (@) Fair day s pay fot fair day’s work
(b) Henry L. Gantt (ii) Motlon stu
() Frank and Lillian Gilbreth (iii) Graphic scheﬂf{hng fox planning and controlling of
work -
L

(d) Max Weber (iy) ‘Bureaucratic brganisation

<l
Code : - L

Vi
(@ () (¢ (@ =

1) @ @ (e (@)
(2 @) @) (i) § (iV){
) @v) (@) @ @)
(@) Gv). () & ) i)

7.  The achievementfof goals with the least amount of resources is :
(1) _ Effectiveness (2) Efficiency (3) Productivity (4) Both (1) and (2)
|

|
8.  Which one of the following is the fundamental rethinking and radical redesign of business
processes to achieve improvements in performance ?

(1) I{eengineering (2) Reorganising
(3)  Revisiting (4) Rescheduling
e [ FRITHUIAN ‘ Fapec
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4. Trafafed 8§ 9 $H-1 wuF @@ T8 € ?
(1) HH AFTa STEd AFTd st g | st 71fd | Hedl 7
(2) HHRI ARG TG ARG i ger § ast T 9 Sed ¢ |
(3) TN AN STEd AN o SRTER Sl § ST SiHd AT <A g |
(4) STEd AN SHE AT o SRIER Bl § Sel WH AnTd A gl |
5. - Youd U e Bl © L
(1) S difgeda (eafen) & faw) (2) @y erfushageo & feaw) |
(3) HARMHHRT oI o for (4) SR Fa g & faw o
6. TAfafEd &1 gafaad wifs sk @& e &1 <o : :: E.
et - 1 Lzl 71 ."
(a) THTEY, TR (i) ﬁqm%wfazﬁésmwam
(b) T T e (i) I eree J/ ,
(c) e 3R fafeem firead (111{ EIRIRISE Sﬁ'{rﬁFﬂWTﬂ Tftheh TR
(d) TeE I < (iy) et |
Fe T
@@ (®) (9 (
1 @ @) (i (iV)J
2 () @@ @) § ) (
®) (v) (@) | @) @
(4)  (v) (@) 4 @) (i)

A aﬁqﬁweﬁ?ﬁ%ﬂw%@ﬁuﬁ%:
(1)

ERIENID]] (2)
I

frqora (3)

8. Tfeiia & & foure & GuR 1 Sueifed & ford i-91 FRISR Wishal 1 gt TR 37 shifaeh
A giawd § 2

(1) FrEfr @ T
(3) e (4) TTEHA TR
o | AR 5 Paper-i
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9.  Match the following and select the code of correct matching :
List - I List - II
(a) Motivating through rewards (i) Charismatic leadership

and penalties

(b) Changing organisation by creating (ii) Situational leadership
and communicating a vision i .
(c) Influencing by dint of personality (i) Transactional leadership 4 " .
and charm f f
(d) Modifying style with respect to (iv) Transformational leadership
readiness of followers re”
= b E
Code : /,/ »
@ () (9 (9 / |
¥ | I
M @ O @ @) f \
@ @ @ O r
(3 @) @v) @ @ ry
. cee .o . ‘ ‘\ r
@@ o o
Vi i
10. Which one of the following is not a ‘hygiene factor” of Herzberg’s Two Factor theory ?
(1) Interpersonal relations (2) Working conditions
[
(3) Responsibility | (4) Job security
‘4

11. _Assertion (A) : Promotion is a move within the organisation to a higher position that has
reater responsibilities and requires more advanced skills.

Reasoning (R) : Promotion may not involve a raise in status but a hike in salary is a must.
Code : '

1)| (A) and (Rl) both are correct.
)Y (A) and (R) both are incorrect.

(

( )

(3) ( ) is correct whereas (R) is incorrect.
4)

4)  (A) is incorrect whereas (R) is correct.

orry [ HIFHIILN
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9. frAfafEa &1 gafaa ST 3R W& He 1 =989 HiT

gt - 1 gt - 11
(a) TR SR Ul gRT SAfHRom () HREEE A
(b) IR o FHu Td H9R g 9ied | (i) TRRefdE g
TRE A >
(c) AfKIa ol SATHHUN G FHT(Id HLT (iii) shrE-foaem Heet g H- m
(d) TRl 1 ITAA P @ g WA H AR (iv)  FIRO G r
A
e | :
@ (b)) () (d) VA
1 @ @O @ G £ | |
2 @) @) @ 3@ I \
@ G @ @ o /
4 (v) @) G @ . r— -
10. mﬁﬁﬁmmﬁﬁﬁ%ﬁmm ‘e e E 2
(1) SF=afsit gwere - ) wr aRfefat
(3) SWErad !:' - (4)  SiTe Gea
w 1
11. fav=e=m (A) < ﬁwﬁwwﬁﬁﬁmaﬁaﬂwmm%m%ﬁﬁwmﬁa
TS ArAdT Sl STEvEshdl Bl |
[ ®: ﬁﬁ?ﬁﬁﬁéﬁa@ﬁﬁmméméﬁﬂﬁq@wﬁ%l
e

(1) A)@(R)@‘ﬁﬂ?f%l
(2;* (A) T (R) S Terd €|
(3) "(A)m“r%,m(n)nm%
(4) (A) T g, TG (R) 9L R

arr [ HIIEAI 7
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12. Match the following and select the code of correct matching :

List - I List - II
(a) Identification of leadership potential (i)  Vocational Tests
(b) Finding most suitable area of working (i) Aptitude Tests
(c) Discovering interest and potential (iii) Intelligence Tests

Ty

for acquiring skills

(d) Measuring capacity to think, learn (iv) Personality Tests {
and draw relationships i f
Code : : ' )
@ ) (© (@ S
1 Gv) G @) 6 4% 7
@ O @ @) @ [\ ]
@ ) (O G i ’
@ 6 @) @) @) V
4 ' Al

13.  Which one of the following is a‘!ac&l;ty to file anonynllous complaints ?
(1)  Juke Box (2) _Ysi&e Box (3)  Gripe Box (4) Hard Box
14. Which of the followindg is/are not gainsharing plan(s) ?
a) Scanlon Plan {
)~ Rucker “Plan
c) Employee ?ockr Option Plan

d) Improshard Plan
Code |
(1% (c) only |
(2) ¥ (dionly
(3)  (€) and (d) both
(4)  (b), (c) and (d)
s [N ;
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12. frafafed s faem e iR 9@ %2 &1 == S
T - 1
(a) g FHE i T (
(b) SUHH H & I QIS KA (
(c) THITTE U A i T TR HIE 1 TS HET (iif)
(d) drem, e SR Hey S i T S A (

<< :

[N
=
~

@ b © @
O @) G @ 6 1
@ O G G @) f”;
G) @) (O @ ) /
@ @ @) @ W) /

13. fr=fafed # & o8 W fremmed TR, = gfaen § 20 ©

(

%

(1) =% @ a@iali“ (3) e Aer
Ve

14, Frehen 8 @ SF- o e T

(a) THIAM ST !{ {

(b)  TERRT AISHI

() wﬁaﬁ@ﬂﬁﬁwaﬁw
WmWWW%i

1y ¥ (© |
dﬁww

(3) " (o) 3 (d) <A
(4)  (b), (o) 3R (d)

arr [ HIIEAI 9

et - 11
g g TUaT
Afvela gden

dfg e «-
Hforaca TET 'f; ;
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15.

16.

17.

In which one of the following methods of performance appraisal, predetermined percentages

of rates are placed in various performance categories ?
1) Alternation Ranking Method

(1)
(2) Forced Distribution Method
(3) Paired Comparison Method
(4)

Check - list Method

Ty

."

Indicate the correct code for the combination from the following regardin, alﬁ the superlo,rlty of
the wealth maximisation over the profit maximisation objective of the financial management :

a) It takes into account long term stability and survival of the firm. ¢

r

b) It takes care of all other objectives of the firm hke explormg and expanding markets, etc.

(

( {

(c) Itis based on the assumption of perfect C/gmpehtlgn in the market.
(d) It considers risk alongwith returns. / '

Code I \ I
(1) (@), (b), (c) and (d) d/ ,
(2) (b), (c) and (d) " r -
3) (a) (b) and d < |
B ."HJ

(4) (), (c) and (d) T

The controller function of the financial management concerns with :

-

(1) advertising the ipubliq: issue of the firm

2) negotiating with banks for loans

(2)
(3) analysing variance between standard costs and actual costs
(4)

a
4) estimating }Le future cash flows from certain project

18. Capital Asset Pr.fcing Model (CAPM) for risk measurement has been given by :
(1)| Sharpe and Lintner
(2 ) Y Lintner and Treynor
(3) : Sharpe, Lintner and Treynor
(4) Lintner, Modigliani and Miller
e [ IIAVAVR AN 1 Faper
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15.

16.

17.

18.

1 Yeiehd ot Fefaren ford fafy # qefuiRa gfaer <0 w1 froare st fafy=r Sfori  wan s
@7

(1) Toehedi-wqg swHiR fafy
2) Afver foquon fafy

(3) ™ o fafy

(4) SE-HE fafy

fota vy & 9rg) ARISRaHRIT SEW & oY TfehdHeRl SevT W éw@wfaﬁﬁ%%f@ﬁ
T 9 WE GaSH I 21 HIfST

(a) I8 R & efenrele feorar wd sAfasiiad W &M @ € )
(b) 7% % orer wefl Sl S A A i el Fo A e &
(c) T8 IS H qof glcrifirar 6t wr=ren o Semia@ 4

(d) T SfE % T Yo W e e ¥/

forter wafer o Fef=ror shref weatfert e 2
NP S OF S
éﬁ@%ﬁ%maﬁ%ﬁﬁmﬁﬁ
Wﬁaaﬂﬁ@ww%aﬂaﬁw%ﬁs@wﬁ

forit ‘Tﬁ'ﬁl‘mﬁ e TS TATE F SAE FE

Gﬁﬁaﬂnméaﬁ?zisﬁwﬁrwﬂm(ﬁnﬁ@.)ﬁmw%:
(1) ¥ we fer=R g/

(2)\y foriR T TR gm

(3) 9, fere e TR B

(4) foa=R, Aifsfiaar @ fAeer g/

arr [ HIIEAI m
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19.

20.

21.

22.

Beta (B) is a measure of :
(1) Systematic Risk (2) Unsystematic Risk
(3) Total Risk (4) Business Risk

Capital budgeting is concerned with :

(1) Arranging cash resources for the project.

2

Ty

(2) Managing the working capital of the firm. r
(3) Managing the fixed assets through repairs and renewals.
(4)

4) Evaluating the returns and investment in projects.

Which one of the following is the demand state Where,”Consufrlers;?iislike the product and
may even pay to avoid it” ?

*
(1) Unwholesome demand (2) )Tf:;lining demand
||I |
(3) Negative demand (4) / Latent demand

Evaluate the statements according to Brand Asset Vaétor Model of Brand Equity :

Statement (I) : Knowledge measutes the degree to Which a brand is seen as different from
others as well &i it§ pricing power. |

Statement (II) : Esteem measpes dperceptions of quality and loyalty or how well the brand
is regarded-and respected.

Code :
(1) Both the Statenjents are correct.

i,

(2) Both the Statements are incorrect.

(3) . Statement (I) is correct while Statement (II) is incorrect.

/(4) Statemenh({) is incorrect while Statement (II) is correct.

23. If a coaching institute provides some supporting study material along with teaching, then
whieh one of the following service mix category would it be ?
(11 Hybrid offering
(2)|k 4 Major service with accompanying minor goods and services
(3)  Tangible good with accompanying services
(4) Pure service
s [T z Fapec

www.examrace.com



19. e (B) THAEME :
(1) shHeg SIEH (2) FHHESGAEH SEH
(3) FA SHEH (4) AEEIIH SHEH F
20. USf SoTe Tt €
(1) IS B 7Tohe HETEA i el i 9 |
(2) Y T =TT YSI T FEE G | p
(3) HUHA e FellHtRTur gRI €Tl et o Fere 9 | : "rt,,‘
(4) ufESIST | fafEm e Y@ & qedied 9|
21. TrefafEd o 9§ o8 hia- 11 stereen § e Susie scqlqa?r 9E< %{dl%@%%ﬁ'@aﬂﬁ%
T ST A T ot TR & TR ® 12 5
(1) ST | (2) ﬁgﬂi@m
3) THRIHS AT (4)
22. ﬁw%f@amwmsa@%mwﬁrﬁ%wm{{;mﬂww
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€2 {
HYT (II) : Maﬁaﬁwgwmmﬁamﬁmgﬁﬁﬁmwww%%aﬂw
TR IGH! T B
e - i
(1) < s =@ E (
(2) T U @ © |
(3) U (I) Hel T SafH e (1) o 2
[ (4) wmeA (I)WF%:WEBW (I1) 52T B |
23. A T T GEIH TgM & HIY-T1 S T 319 it off g shiard €, 7« Frefafea o
4 38 HH-H Gl fag wife H e smem ?
(1) frgs 2
(2) " e e s e o et
(3) o g o WY T Fard
(4) forgs Hen
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24.

25.

26.

N7 \|H||“||H

Statement (I) : A low market - penetration index indicates substantial growth potential for
all the firms.

Statement (II) : Generally, price competition increases and margins fall when the market -
penetration index is already high.

Code :

(1) Both the Statements are correct.
(2) Both the Statements are incorrect. {
(3) Statement (I) is correct while Statement (II) is incorrect.

(4) Statement (I) is incorrect while Statement (II) is correct,
g ™ |i
*
Which one of the following is a system of partnerships and alliances that a firm creates to
source, augment, and deliver its offerings ? |

| [}
[ ¥

(1) Value network \ ‘/

(2) Omnichannel marketing

(3) Integrated marketing channel s‘yétem

(4) Direct marketing Chann'gl;il ¢

Statement (I) : Tim study is an area of study whose fundamental purpose is to set time
standards for work using different methods.

Statement (II) : Work measurement is a structured process of directly observing and
measuring (using a timing device) human work in order to establish the
ime required for completion of the work by a qualified worker when

l;ror'king at a defined level of performance.

Code :

(1) Both the Statements are correct.

\
(2)" . Both the Statements are incorrect.

¥
w

(3) " Statement (I) is correct while Statement (II) is incorrect.

Statement (I) is incorrect while Statement (II) is correct.
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e € |
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e
(1) I wme wE T
(2) 3 e e ¥ '-"‘2‘
(3) YA (I) T § Safh e (1) ToTd T r
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'i'
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(1) T Tk \ /
(2) @d HreEm faquE " [ f
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27.

28.

29.

Which one of the following combinations of the characteristics of the popular layouts is not
matching ?

Fixed Product Process Cellular
Factors
layout layout layout layout
Material Often high
1) arend Fixed path [Variable path =n e Variable path
Travel path
Ship Continuous |Job or small |Small to
(2) Process o e :
building and repetitive |batch medium batch
Diversified
Made t duct
adeto Standardized prf) uets Diversified
3) Product order, low using
product products
volume common
operations
Utilization of G 1
4) ) _é N |Moderate Very high enera High
Facilities purpose

i
J

statements is false ? ; F

-

In the context of distinguishing between forecasting a)c}égredictipn, which one of the following

(1)  Forecasting is based on a theorétigal model whilé prediction may be based on intuition.

(2) Forecasting reflects managemefit’'s judgement after taking all available information into
account; while predictioil ’iinvblves the projection of the past into the future.

(3)  Error analysis is possible in the case of forecasting while no error analysis is done in the
case of prediction.

(4) No objectivity is found in the case of prediction.
[
An activity that consumes no time but shows precedence among activities is known as :
(1) Slack actiﬂ\:ity
(2) Successor activity
(3) Dummy agf,vity
(4) Critical activity

Which one of the following is not correct matching between level of facility planning and

30.
tyFe of activity ?
(1)} Global level and site location and selection
(2) " Macro layout level and Site planning
(3) Micro layout level and Cell design
(4)  Sub - Micro layout level and work station and Cell design
s TR 1 Fapec
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27.

28.

29.

30.

Frefafed 9= | 9 &HA-91 Y=tad fa=amdl 9 9 61 @ ?

Hh Fruifta foam|sar faam  |[vfwra fommm  |[sria fo=ma

1) TaHigar |fui@ oy |[dRedivg |Ggwrs=uy  |ufRadl oy

=R den [Siiel STl oy

2 EIERI Srerst fator T ey
) ; N g
ITUG] i
3R T
fafiera, T &
3) I fafda, 0 |[Wfasae | | fafis 3cure
T T R
fafta
(4) et e Eic T A |3
BRI e

Wﬁﬁa@%m%ﬁﬁ,ﬁmﬁf&aﬁﬂjﬁ—@@mwé?

(1) wﬁmﬁﬁmmmw@%mﬁwﬁ%ﬁwwwdh@Hohm%|

(2)  fTeEmlt gerem g Gaed geei 1 e ¥ waan i3 fofa o uftafea wd & sefs gd
her H ST i BT & ST B

(3) FAfe-Tavemm, wfasrami#, Hva g S@fe qd e ot g3 § Jfe favermon 7 fowman S
(4) T9 YA H GG H SR TRl TEl el |

[
e Tiatat foad frdt Tma #) wud T S TR R fafafe ¥ o e 2, 58w ¥
(1) Soreget, fafafy

frefafad § @ SF-T1 glaen Jem & wR IR nfafafy & ger & 9t O & @ g2
(1), ToEa TR AR e FuRe-==

(2)  wETfoam TR SR Tore s

(3) o o W SR ¥ fesed

(4) 39 HEIfa=E VR iR % RIA a1 9 fesed

arr [ HIIEAI 17
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31.

32.

33.

|

Which one of the following statements is false ?

1) Sample space refers to the collection of all favourable outcomes of an experiment.

2)  Collectively exhaustive events are those whose union is sample space.

1)
()
(3)  All the outcomes of an experiment are known as sample space.
4)

Two events are said to be independent if the happening of one does not affect the
probability of happening of the other.

Ty

Which one of the following is a false statement?
(1) A binomial distribution involves infinite number of trials

2) The mean and the variance of a Poisson distribution are‘equal r

(2)
(3) The standard normal distribution has p=0 and &:=1 \ {
4)

4) The standard deviation of an exponentialiﬁ’istribuﬁqn is equal to its mean

||

."r | f
j J
[ f

In the context of coefficient of correlation (1), matc% the items of List - I with the items of
List - IT and select the code of correct matching :

r
r
r
F
-

A (
List - I < £ List - IT
1—p2 ) i
(a) N - (i) Probable error of r
1-12 y
(b) (0.6745) [ /n j ! (i) Coefficient of determination
(c) 12 4 (i) Standard error of r
Code f
@ ® |©
ap @ o G
@@ 6@ 0
@G @ @) @
4 @ @) (i

I 2
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31. TrefafEd § 9 SF-91 29 Tod © ?

1)
(2)
(3)
(4)

4

1) ool fomR T Wb % 9t o IRt v He T

grfeeh M9 T o § foe amie feel fommr 71
AT o Gt qiomE st el foear e s g

amﬁaﬁwﬁaww%ﬂﬁ@mwm@ﬁméﬁﬁaﬁﬂmﬂmaﬁwﬁﬁ
Tl A T y
i ,

32. fTo=fafEd § 9 SiH-91 oM o § 2

1)
(2)
(3)
(4)

feufen feraeon § sreie wlern w3 e € | =S
Qraee oo o1 e iR foemgg @ €1 o 7 - |

T G IR & =0 3R o= 1‘@?11 |

A faawor <1 A fa=re 59 /e %W

x’

33. w—wraw@,aamﬁqeﬁxaﬁnaaﬁwxﬁqa’éwwﬁwwqgw

Wqﬁﬁlﬁ: < f:
Heit-1 1,1 ' geit-11
@) 1&2 ~{ J{ () %
b) (0.6745) L%] (i) TR = TR
o f (i) 1 T e
W i
@ ® |©
(1} @ @ ()
(2) ¥ @) @) @)
(3) (i) (111) (i)
4 @
N7 | IHI\III\ 19

www.examrace.com



34. Which one of the following statements is true ?
(1) If one of the regression coefficients is greater than one, the other must also be greater
than one.
(2) The product of the two regression coefficients is always more than one.
(3)  Correlation coefficient is the arithmetic mean of the two regression coefficients.
(4) The signs of the two regression coefficients are always the same.
{
35. In the absence of which of the following, SPSS can be used as an alternate ? /
(1) MS Word (2) MS Excel (3) MS Access 4) f MS Data.pr,o‘
36. Match the items of List - I with List - IT and select the code of correct matching :
List - I d {  “List-II
(a) Merger of Vodafone and Idea // J, () Busmliess Strategy
(b) Launch of Apple iphone 7 plus / (i) Operational Strategy
() Manufacturing Samsung mobile handg,('i.ts in India _,'I(iii) Corporate Strategy
Code : i \ [
@ ® (© /
O @ O Y (™
@ @ @ o < f |
G) @ @) 0 T,
@) @ 6 () -
37. Which among the foi}owirig are 5 Ps of strategy as identified by Mintzberg ?
(a) Plan I
(b) Problem 'a;
, (¢) Pattern b
(d) Position f
(e) Ploy
(f) _ Perspective
Code !
(W), (@), (), @, (d) and (¢)
@) %@ ®), @), © and ()
(3) () (), (), (¢) and (9
(4) (@) © (), (¢) and (H
st | il 2 Fapec
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34.

35.

36.

37. T

|

freafafad 8§ 9 SF-91 w7 9@ T2

(1) =fe FagEo & Torishl § & Th Toieh TR W el € Al g o SEd Sl g
(2) < FEIGHON % TUIhi <k TR T T § Ak 2w

(3) T HHIAAN % T[UTRI T OIS 1L TE-Tre4 0T & |

(4) < HHFAV F OTh & o TRF THH B |

Wﬁ@ﬁﬁ@ﬁﬂﬁ@@ﬁﬁ,ﬁﬁq%@ﬁwﬁ.w.@.(SPSS)EHWW#G-TW%?
1) WEWE () WWTEA () TR (4)I@EH€FETFT

Tl - 1 61 73] 1 gt - 11 9 e &S @R 981 e 1 999 ST ;
et - 1 et -1
(a) dSrermmE @i smEfean w1 e @ =R R
(b) TUA STEHM 7 T hl T Ahl S ) fpﬁmmrtﬁrﬁr
(©) Wmmﬁmﬁ?%’swﬂﬂ%ﬁﬁﬁﬁ (iii) /eRTdRE TOITT

(4) ()() ()@

i 2
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38. Assertion (A) : A firm’s relative position within its industry determines whether the firm’s
overall profitability is above or below the industry average.

Reasoning (R) : The fundamental basis of average profitability in the long run is sustainable
competitive advantage.

Code :

(1) (A) and (R) both are correct and (R) is the right explanation of (A). ¢
(2) (A) and (R) both are correct but (R) is not the right explanation ofr(A).

(3)  (A) is correct but (R) is incorrect.

(4) (R) is correct but (A) is incorrect. F -
AN S
’ A
f |'
39. Statement (I) : A “Star” is the market leade;r ina hlgh—g'rowth market ; and it has sufficient
cash to support other businesses. \

Statement (II) : “Dogs” have weak market share in lfi{gh - growth market.

%
Code : . (

</

(1) Statement (I) is correct bu,t (I ) is incorrect.

(2) Statement (II) is correct but (I) is incorrect.

i,

(3) Both the Staterients {(I) and (II) are correct.

(4) Both the Statements (I) and (II) are incorrect.
o

F -
f %
' 1

40. Which among thf following is not a generic strategy ?
(1)© Unity Straregy

(2)I'n Cost Leadership Strategy

J

(3)  Differentiation Strategy

Niche Strategy

IR 2

a7 \IHII“II
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38. Tvemm (A): & wH @ SEM ¥ Ay frafa g fuifa wdt 8 T o a5 e arveres

39.

40.

3TN & 3TEd 9 S A1 A 7
& (R) : Srefetet H ST ISRl T YA STER 3T Farsui Ffanft e g 2|
<< :

1) (A) W (R) SF1 &l € a7 (A) 1 &t AR (R) AT

2)  (A) T (R) 3 T ¥ W (A) F T A (R) T HA T £ s

(1)
@
(3) (A) W & T (R) Terd ¥
4

4) (R) & T T (A) TG B |
. |i
Vi P
HA () : TH VR ' o forehTel TSR 1 31 Bl @WWWW@WW%W
T T TS B / \

HA (II) : 'SFS' IA oo™ 98K H =F-91SR 39
4 f

< {
He (1) T & g (1) T & 1

<

1

3

(1)

(2) HE (I1) HEl & T (I) TTerd 2 |
3) ﬁémm(l)ﬁ(lf*ﬂé%
(4)

4) TH g T (1) T (1) TTed © |
"4

ﬁw@@aﬁ@ﬁ:ﬁmmﬁaﬁ%?

(1)~ T Tt
Q). _amﬁqvorm-—frﬁr

&) i T
(4) el THEIT

arr [ HIIEAI 2
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41.

42.

43.

Elements of entrepreneurial competencies, according to the theorist of the subject, pertain to
which one of the following ?

(1) Body of knowledge, set of skills, cluster of appropriate motives and traits

(2) Ability to prepare viable project, executional skills and materialisation of group goals

g |
(38) Ability to work in a group, enforce group dynamics and motivate employées

(4) Assigning priorities to hierarchy of Maslow’s monetary needs and Ifon-monetary needs

L

"
AN %
Under the new norms of Micro, Small and Meditim Entetrprises Development (MSMED) Act
2006, the criteria of investment limit in plant/and machlnery for MSME falls under which
one of the following category ? / - f

| |
[} |

(1) Micro X 25 lakh, small ¥ 5 crore, Medium X lO‘c"gre

F
Fd

(2)  Micro T 20 lakh, small % 2.5 crofehMedium 5 brore

1"‘4__

(3) Micro X 20 lakh, small ?b6krore, Medium X 8 crore

(4) Micro X 25 lakh, small X 10 crore, Medium < 15 crore
il -
L
‘4
Entrepreneurial Judo strategy aims at which one of the following ?

(1) Filling holef left by others in the industry.

(2) Developin!; effectiveness in the industry.
\

|

(3) ‘j'. Mobilising finance and effective use to reduce NPAs.

r

(4) Creating competitive environment in the environment of SMMEs.

arrs [ HIIEAN 2
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41. T gl g, fawa o fagraenl o oTER, Fefafad § 9 fra amed @ grafm 872

(1) TH YUSR, HITE T8 IR U A= IR 7O

2) Tommmeam afERHIST H TR H &1 A, e S 3R g & dsdl Sl wellyd
EZGI

3) Wﬁwmﬁaﬁﬁw,waﬁnﬁaﬁwaﬁmwaﬁtmﬁmﬁﬁaﬁa%@ﬁﬁm

(4) Wﬁmwﬁwﬁaﬂ?ﬁ—mw&ﬁwﬁ%%ﬁmﬁﬁaﬁw
i

Ii.
-

42. eI, T IR A N SeW fowE (TG EL) A= 2006 & T3 AR F 2L,
@.@r.@.ﬁ.%WW@IW%WW—W,Wﬁ@,WW%@WW%?

(1) g (F&d) T 25 oM@, YT 5 HS, HEA T 10

(2) ng%l?ZOﬂl@Hﬂ?ZSW{HW?5W f

(3) EshI T 20 TG, 7Y ?(ﬂl‘% nwmaﬁa@'

(4) HEHIT 25 cfuta,‘i,ﬁg 210 S, A T 15 FS
v |

‘4
43. ST SN Tl H G foRe! 7O e W © 2

(1) UM H SHY R BIS T B[ hl 9 |

(2). FET H gTereTera 1 S |

(3) * T T wen % o s wfasier SR gt e |

(4) THTHUAE. % ARG H JoHIT STareRer 1 i |

arr [ HIIEAI 2
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44.

45.

46.

a7 \IHII“

Preparation of a business plan as a pre-requisite to a promotion of a business enterprise,
relates to which one of the following ?

(1) There is no flaws in the business idea, the fashion, conviction and tenacity of the
entrepreneur.

(2) Make arrangement for finance and prevent occurrence of NPAs by business entity.

IF.
&
{

(4) Make plan to raise finance from market and alternative investment opportunities.

(3) Ensure that business entity works at break even level.

L

r

Federation of Associations of Small Industries of India. (FASII; proqnoted in 1959 is which

one of the following type ? /_/ »

f i
(1) Government organisation / \ .n'l

/
(2) Liaisoning organisation \ (f
(3) Small Scale unit 4 f s
(4) SSI Board N d.){
Y4

i,

Statement (I) : The scierice of ethics is a normative science.

|

Statement (II) :! Normative sciences judge the value of the facts in terms of an idea ;
¢ 4 concerned with judgements of ‘what ought to be” but not with factual
‘judgements.

Code : f ,
(1) » Statement|(I) is correct but Statement (II) is incorrect.

(2), Statement (II) is correct but Statement (I) is incorrect.

J

(3) " Beth the Statements (I) and (II) are incorrect.

Both the Statements (I) and (II) are correct.

26 Paper-II
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44. TS AFHNIH W i 3o & T T2 Tk Yo -Tavareha ¢ foh Tk AT e o fwam S,
ST Gy fefafea § 9 forges @g §?

1) STH T FAUE & AW, AER, 31 & 9fd g

3

(1)

(2) HASHM THE & o forfta gery TR 39H TA T, % 9 1 Jh

(3) AT THE & fau g Yhfraa s fh a8 snfasse T W s &)
(4)

4

W@ﬁﬁﬁﬁﬁﬁwwaﬂiwwmﬁﬁmmb

45. HEwMA Sifh THIRTIMY 1% e svee™ mg%m(wqwaéa@)ﬁmﬁwwﬁ sfefs
&t T off, 9% frfafed § § f5d TR & 2

(1) TR Hied .f

@) v ) /
() g e Y e
(4) THTHIME o X 1-{ -

¥

46. HIT (1) : ﬂ"\ﬁiﬂmﬁaﬂwaﬁﬁ%ﬁaﬁ%l

{
HYA (II) : TSV o Th foaR F MR W qedi & G &1 Foia X €, 371 TR qeammd

ool & T o 3ed e € for ‘o S =R ?
wHUT w&%m@aﬁm 1) 7o |

©)

(21 mm(nﬂﬁr%maﬁaﬁ( Terd ¥ |
3) - m o (I) 3R e (I1) IHI TTerd % |

(4)

e (I) 3T ke (1) SHi Tt 1
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47.

48.

N-01717 ‘m““"“"m“

| Reasoning (R) :

Match the items of List (I) with those of List (II)
List - I

; and choose the correct combination :
List - II
(a) Ethics are the principles of conduct (i) John Donaldson
governing an individual or profession.
(b)  Ethics is the discipline dealing with what (i) Keith Davis

is good and bad, or right and wrong, or

Ty

with moral duty and obligation. . r" )
(c) Ethics are a set of rules that defines right (iii) Shea
and wrong conduct.
(d) Business ethics, in short can be described (iv) R. Wayne Mondy F
as the systematic study of moral (ethical) ,
matters pertaining to business, industry Prf' .

related activities, institutions, or practicfles i I

and beliefs. J
Code : \Jj— _ V.
@ 6 © @ . (

m @ m o @ %) |
@ @ @ o A

@ @ @ 6@ W

@ @ 6@ ) oy

Assertion (A) Y Decisions in small matters largely tend to set a pattern for the more important

ones you may make as managers.
o

A multi - industry survey conducted in the USA indicated that 40% of the
anagers said that their superiors had at some time told them to do certain
things unethical.

Code : |

(1), (A) and (R) both are correct and (R) is the right explanation of (A).
2 ¥ v (A) is correct whereas (R) is incorrect.

(3) ( ) is incorrect whereas (R) is correct.
(4)

4) (A) and (R) both are correct but (R) is not the correct explanation of (A).
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47. G- 16 T3 I et - 11 &l 76l § GAFAd i 3R Tel S 1 =99 it

Tt - 1
(a) +fq % fagra a € it foredt safaq steran wRER i)
% SIIER ! HaIferd hd & |
(b) T 8 TR T S 3T 1 §, U HAE, (i)
TEI 9 %, e 1A 7 A¥an sk wded T Qe
Y Trefed B
(c) foeme 37 Fawi %1 9g © Sl e SiR e SRR
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SHRISRT T <1 Hed # foreror 56 Fehr fean s gehal  (iv)
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Heenal 31erel 3ok Yoo Ug fovard ﬁ}ﬁfﬁla@ ﬁﬁrm"

(i)

et - 11
e SHesdd

iy sfag

@l’éﬂi

emansﬁiﬂér

31T B ‘ '
<< : ﬁj y
@ () (¢ (d) 44 ( ™
(1) @) @Gv) @ () {
X
(2) (@) @Gv) @) @ b ¢ S
(3) (@v) @) @ @ -
@ @ ) (), (@)
s
. |
48. SMUHRIT (A).: @W%%wﬁmm@%mﬁmmﬁvhﬁwnﬁ@mﬁﬁ
ﬁrﬂh T i G TR I € |
'razk(R): Ejﬁwﬁwagwﬁwaﬁm‘gwm%ﬁwm%wmﬁﬁ%aﬁm
3k Yol A et 1 fordt THa 399 ofaes &/l i i el o |
Fan |

(1) (A)W(R)lﬁ@%W(A)W(R)E@W@W%l
(2)\3-(A)W%W%(R)W%|

(3) (A) e ® SEfE (R) T 71
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49. Deontological theory of ethics is concerned with which of the following ?
(a) Duty ethics
(b) Obligation ethics
(c) Rule based ethics
(d) Classical ethics

Code [
(1) (a) and (b) {
@ (@) and () e
(3) (a)and (d) ( f
(4) (a), (b) and (c) i
50. Utilitarianism theory of ethics refers to which one of.the follovx’ling [
(1) Welfare / o |
(2) Duty £ 1 |
(3) Obligation / \ J
(4) Rules /
_—
4 (
| f . 00o0-
Py
Y
{ !
‘4
{ “f
A
g
s [T . Fapec
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49. ifaeme 1 veeTEta fagr, fafafes § 9, fea Twefug §2

(a) oA e

(b)  riae fifame

(c) Trom e Hifqere

(d) G Fifaeme {
2 : {

(1) (a) 3 (b) | ( !
@) (@ () A '
(6) (a) 3 ()

@) (@), (b) IR

r
|
50. ‘feme w1 SwEfiaere fagr’ 1 Hohd ﬁrﬂﬁé! 49 ﬁrw”r 3R ®?
|

(1) e / \ ,
(2) HAA / y
(3) TIfgs 4 r
(4) frem « 1 '

\ 4

|
- -00o0-
i {
‘4
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Space For Rough Work
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